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Section A

Answer one question from Section A and one question from Section B and one other question
from either Section A or Section B.

Use case studies to support your answers where appropriate.

Total for this question: 25 marks

1 The Restless Earth
1 (a) Describe the characteristics of oceanic crust.
[3 marks]
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1 (b) Study Figure 1 on the insert, a map showing the world distribution of volcanoes.

Describe the world distribution of volcanoes.
[3 marks]
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Question 1 continues on the next page

3 Do not write
outside the
box
1 {c) Study Figure 2 on the insert, a photograph of Eyjafjallajékull, a volcano in lceland.
1 (c} (i) Draw a labelled sketch cross section to show the characteristics of this volcano.
[3 marks]
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1 (c) (ii) Use a case study to discuss the immediate and long-term responses to a volcanic
eruption.

[8 marks]
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1 (d) Study Figure 3 on the insert, a map showing the Yellowstone supervolcano in the USA.

1 (d) (i) Use information in Figure 3 to complete the table below.

[2 marks]
Distance along line A-B 6(:; km
Shape of the supervolcano (caldera) | ...\ CA N .
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1 (d) (ii) How is a supervolcano different from a volcano?
[2 marks]
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Section B

Answer one question from Section A and one question from Section B and one other question
from either Section A or Section B.

Use case studies to support your answers where appropriate.

Total for this question: 25 marks
5 Water on the Land

5 (a) Study Figure 13 on the insert, a 1:25 000 Ordnance Survey map extract of part of the
Peak District.

Damflask Reservoir is named in grid square 2790. The dam is in grid square 2890.

5 (a) (i) What is the length of the dam along the line X=Y on the map?
[1 mark]

5 (a) (ii)) What shape is Damflask Reservoir?
[1 mark]
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5 (a) (iii) Describe the relief (height and slope of the land) around Damflask Reservoir.
[2 marks]
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5 (b) Study Figures 14a and 14b on the insert, maps showing rainfall (2012) and population
density (2011) in England and Wales.

Explain how Figures 14a and 14b show that there are likely to be areas of water
surplus and areas of water deficit in England and Wales.

[6 marks]
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5 (c) Study Figure 15 on the insert, a photograph of High Force waterfall on the River Tees
in the north of England.

Figure 16 is a black and white copy of Figure 15.
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5 (c) (i) On Figure 16, mark with an arrow and label three characteristics of the waterfall. .
[3 marks]

5 (c) (ii) Explain the formation of a waterfall.
[4 marks]
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5 (d)

Describe how river processes of transportation and deposition change downstream.

[8 marks]
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Total for this question: 25 marks
6 Ice on the Land

6 (a) Study Figures 17a and 17b on the insert, graphs showing information about the
Solheimajokull glacier in Iceland in the years 1931-2012.

Figure 17a shows the advance and retreat of the glacier.
Figure 17b shows the change in the position of the snout of the glacier.

Describe the trends shown in Figures 17a and 17b.
[4 marks]
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6 (b) Study Figure 18 on the insert, a 1:50 000 Ordnance Survey map extract of the
Helvellyn area of the Lake District.

6 {(b) (i) Red Tarn (grid square 3415) is in a corrie.

In what direction does the corrie face?

[1 mark]

6 (b) (iii} A corrie is labelled on Figure 18.
Figure 19 (opposite) is a black and white copy of Figure 18.
On Figure 19, mark with an arrow and label two other landforms resuiting from

glacial erosion.
[2 marks]
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6 (c)

‘Distinctive landforms result from different glacial processes.’ lllustrate this statement
with reference to one landform of erosion and one landform of deposition.
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6 (d)

in temperature.

Study Figure 20, a located bars map showing the chance of show in selected regions
of the Alps under current conditions and the chance of snow if there is a 2 °C increase
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6 (d) (i) Describe how the percentage chance of snow may change if there is a 2 °C increase in
temperature.

[3 marks]
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6 (d) (ii) Describe the economic and social impacts of unreliable snowfall on some resorts.
[6 marks]
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